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Question 1 (10 marks) — Start a New Page Marks
Year11
a) Solve the following inequations:
Common Test —2 . )
(i 11x+4<8x-8
June 2007 | (i) -1<3-2x<4 ' i 2
Gi)) x2-3x-10<0 3
- \‘,
b) Find 6 to the nearest minute if & isan acute angle and
M t t ® (i) tan#=0.25 1
athematics ,

@ secfd=1.5

Time Allowed: 65 minutes

Instructions

All questions should be attempted.

Show all working.

START EACH QUESTION ON A NEW PAGE.

Write on one side of each page only.

Marks will be deducted for careless work or paorly presented solutions.
Diagrams are not to scale.

On the cover sheet of the answer booklet clearly show:

N E W

a) your name
b) your mathematics class and teacher
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Question 2 (10 marks) — Start a New Page Marks
a) (i) Write down the algebraic condition used to show that f(x) is an odd function 1
x3
(i) Show that f(x)=— is an odd function 2
x“+5
b) Copy and complete thé graph of y = g(x), given that it is an even function. 1
;‘;P
(42 |2
>
-2 / -t x
¢) Find the exact value of:
(i) cos315° (i) sin600° 1 each
oo
D 2 x Find the value of x correct to 1 decimal place 2
3
.
e) Find the value of & correct to the nearest minute 2
2
o
g
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Question 3 (10 marks) — Start a New Page Marks
a) Solvefor x

@ |x-7|=3 2

G) |x+2]<7 2

@) |3x-1|>4 -, 3
b) If tanf =% and cos@<0 find the exact value of sind 3
Question 4 (10 marks) — Start a New Page M?rks
a)  On separate diagrams sketch the following regions.

G x+y<4 3 2

G) x%+y*<9 2

(iii) the intersectionof y>x and y<6- x? 3

1

b) Write down the inequations which define the following shaded regions.

(i)

N

Z

1

54
4
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Question 5 (10 marks) — Start a New Page Marks
() Find the value of x, correct to 1 decimal place. 2
(ii) Find the area of AABC 2
@ Hence, or otherwise, find the length of the perpendicular from A to BC. 1
b) Solve for "9:0° <8<360°. Give your answer correct to the nearest degree.
(i) 3sinf-1=0 2
tan(9 +50° )= -2 3
Question 6 (10 marks) — Start a New Page Marks
a) (i) On the same set of axes sketch the graphs of
y=|2x—3| and y=x-+1 3
(i) Solve the equation l 2x-3 ]= x+1 using an algebraic method. 3
(ili) Using (i) and (ii) or otherwise solve l 2x-3 ]S x+1 1
3

b) Solve 0°<8<360° sin 29:..2‘/5
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Question 7 (10 marks) — Start a New Page Marks

a) A ship sails from a port A on a bearing of 050° for 150km to a port B. It then sails on a
bearing of 127° to anisland C which is 295km from B.

(i) Copy the diagram and mark on it all the infermation given above. 1
N
~
i
!
Na I
i Y
| o
| o
! !
! |
i
A !
|
C
(i) Explainwhy ABC =103° 1
(iif) Calculate the distance from A to C. 2
(iv) What is the bearing of C from A? 3
(correct to the nearest degree)
b) Prove that cosec26 +sec? 8 = cosec?d.sec? @ 3

End of Paper
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